

Beta and Gamma Functions:

$$\Gamma n = \int_0^{\infty} e^{-x} x^{n-1} dx$$

$$\left. \begin{matrix} n! \\ n! \end{matrix} \right\}$$

$$\frac{1}{\infty} - \frac{1}{e^0}$$

1. Prove that $\Gamma 1 = 1$

$$\begin{aligned} \Gamma 1 &= \int_0^{\infty} e^{-x} x^{1-1} dx = \int_0^{\infty} e^{-x} dx = -e^{-x} \Big|_0^{\infty} \\ &= -\left[\frac{1}{\infty} - 1 \right] = 1 \end{aligned}$$

2. Prove that (i) $\Gamma(n+1) = n \Gamma(n)$ (ii) $\Gamma(n+1) = n!$

$$(i) \quad \Gamma(n) = \int_0^{\infty} \frac{e^{-x}}{\Gamma} x^{(n-1)} dx$$

$$\int I \cdot \Pi$$

$$\Gamma \int \Pi - \int dI \int \Pi$$

$$= \left(\frac{x^{n-1} \cdot e^{-x}}{-1} \right) \Big|_0^{\infty} - \int_0^{\infty} (n-1) x^{n-2} \cdot \frac{e^{-x}}{-1} dx$$

$$= (n-1) \int_0^{\infty} x^{(n-2)} e^{-x} dx = (n-1) \Gamma(n-1)$$

$$\Gamma(n) = (n-1) \Gamma(n-1) \quad \text{or} \quad \frac{n \rightarrow n+1}{\Gamma(n+1) = n \Gamma(n)} \approx$$

②

$$\Gamma_{n+1} = \int_0^{\infty} \frac{e^{-x}}{\Gamma} x^n dx$$

$$= \left. \frac{x^{n+1} e^{-x}}{-1} \right|_0^{\infty} - \int_0^{\infty} n x^{n-1} \frac{e^{-x}}{-1} dx$$

$$= n \int_0^{\infty} e^{-x} x^{n-1} dx$$

$$\Gamma_{n+1} = n \Gamma_n$$

$$\Gamma_{n+1} = n \cdot (n-1) \Gamma_{n-1} = n(n-1)(n-2) \Gamma_{n-2} = n(n-1)(n-2) \cdots \frac{\Gamma}{1} = n!$$

$$\Gamma_{n+1} = n \Gamma_n$$

$$\Gamma_{n-2} = (n-3) \Gamma_{n-3}$$

$$\Gamma_n = (n-1) \Gamma_{n-1}$$

$$\Gamma_{n-1} = (n-2) \Gamma_{n-2}$$

$$\sqrt{\frac{1}{2}} = \frac{-15}{8} \sqrt{\frac{-5}{2}}$$

$$\text{or } \sqrt{\frac{-5}{2}} = \frac{-8\sqrt{11}}{15}$$

Q. Evaluate $\int_0^{\infty} \sqrt[4]{x} e^{-\sqrt{x}} dx = I$

let $\sqrt{x} = t$; $t^2 = x$
 $2t dt = dx$

$$\therefore I = 2 \int_0^{\infty} t^{1/2} e^{-t} t dt = 2 \int_0^{\infty} t^{3/2} e^{-t} dt = 2 \int_0^{\infty} t^{5/2-1} e^{-t} dt$$

$$\Gamma n \Rightarrow x^{n-1}$$

$$n-1 = \frac{3}{2}$$

$$n = \frac{5}{2}$$

$$(x^{1/2}) = t^2$$

$$x^{1/4} = (t)^{1/2}$$

$$= 2 \sqrt{\frac{5}{2}} = 2^{\frac{3}{2}} \sqrt{\frac{5}{2}} = 2 \times \frac{3}{2} \times \frac{1}{2} \sqrt{\frac{1}{2}}$$

$$= \frac{3}{2} \sqrt{\pi}$$

$$\sqrt{n+1} = n \sqrt{n}$$

$$\frac{5}{2} - 1 =$$

H.W. 1. Evaluate $\int_0^{\infty} \sqrt{x} e^{-3\sqrt{x}} dx$

2. Evaluate $\int_0^{\infty} x^{n-1} e^{-h^2 x^2} dx$

$$e^{-x}$$

$$+3\sqrt{x} = t$$

$$\Gamma(n) = \int_0^{\infty} e^{-x} x^{n-1} dx$$